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QUESTION 1

Which of the following measure focuses on "doing the right things"? 

A. Employee Measures 

B. Efficiency Measures 

C. Effectiveness Measures 

D. Outcome Measures 

Correct Answer: C 

 

QUESTION 2

-- Exhibit -

-- Exhibit -Using the "V" Model diagram, what testing phase is represented by the letter C? 

A. Integration 

B. Requirements Walkthrough 

C. User Acceptance Testing 

D. Unit Testing 

Correct Answer: D 

 

QUESTION 3

A Prototype is a: 

A. Fully operational representation of a process or system 
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B. Limited operational representation of a process or system 

C. Non-operational representation of a process or system 

D. Flow diagram of a process or system 

Correct Answer: C 

 

QUESTION 4

Which of the following is NOT true? 

A. Use case development results in a series of related tests call scenarios 

B. Failure scenarios are unsuccessful conclusions that result in the actor abandoning the goal 

C. All the scenarios for a single Use Case must meet all of the interactions related to different goal or subgoal 

D. If there is only one path, with no opportunities for decisions, changes or errors, there will be no scenarios 

Correct Answer: C 

 

QUESTION 5

Six Sigma approach suggests that there should not be more than ______ defects per million opportunities. 

A. 3.4 

B. 4.5 

C. 34 

D. 6.8 

Correct Answer: A 
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